JL_

Multiplikation (Internationale Art) Name:
L 6se jede Aufgabe. Antworten
) 193.94 2 45.990 3 65831 X
2.
3.
4.
5.
4 44732 5 288.21 6) 33317 .
7.
8.
9.
10.
) 46806 8 32389 9 56862 .
12.
100 75626 11) 34700 12) 81566
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Mathe ] www.CommonCoreSheets.de 6 111121 8] 0




=

Multiplikation (Internationale Art)

Name: L Osungsschliussel

L 6se jede Aufgabe. Antworten
1) . 2) . 3) .
19394 45+990 65831 . 18142
1737 405 520
772 405 195 > 44.550
18142 0 65
44550 54015 3 954.015
4 32.208
5 6.048
4 44732 5 288.21 6) 33317 A 5 661
308 576 333 '
132 288 2331 . 37.076
88 6048 5661
o,  48.272
10, 46.950
7 [ ] 8 [ ] 9 [ ]
) 46806 ) 32389 ) 56862 L 23800
368 2584 448
0 2907 336 1 45.846
276 28747 112
37076 482772
100 75626 11) 34700 12) 81+566
450 238 405
150 0 486
450 0 486
46950 23800 45846
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Mathe ] www.CommonCoreSheets.de 6 1112|180




JL_

Multiplikation (Internationale Art) Name:
L 6se jede Aufgabe. Antworten
46.950 6.048 28.747
48.272 37.076 32.208 1.
44.550 54.015 45.846
2.
) 19394 2) 45+990 3 65+831
3.
4.
5.
6.
4 44732 9 28821 6) 33317 7.
8.
9.
10.
11.
) 46806 8 32389 9 56862

10) 75626

1) 34700

12) 81 566

12.

Geandert
[ Mathe ] www.CommonCoreSheets.de

6 1-10 | 92
11-12| 8

75]67]58|50(42]|33]25] 17|
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